Bid Tabulation For: Construction of Lift Station 23 Expansion & Elimination of Lift Stations 1, 15, 16, & 43

To Serve City of Alvin

Bid Opening Date: March 18, 2025

Bid Opening Location: City Council Chambers

216 West Sealy Alvin, Texas 77511

Tabulation By: Tammy Endres
Tabulation Date: March 19, 2025
LJA Project No. E231-0060

Total Bid Amount for Base Bid, Supplementary

03/20/2025

Bidder's Name: and Allowance Bid Items:

Calendar Days:

1) Reddico Construction Company, Inc. \$33,245,337.00

2) Reytec Construction Resources, Inc. \$35,621,757.50

660

510

forther

Jimmy C. Flowers, Jr., P.E., hereby certify these bid tabulations to be true and correct.

Bid Tabulation - Bid Opening, March 11, 2025 City of Alvin Lift Station 23 Expansion & Elimination of Lift Stations 1, 15, 16, & 43 LJA Project No. E231-0060 FRN F-1386

Reddico Construction Company, Inc.

10083 Airport Road

Conroe, TX 77303

936-441-9500

Ryan Redd

rredd@reddico.com

Reytec Construction Resources, Inc.

1901 Hollister Street

Houston, TX 77080

832-651-8923

Zach Branda

rredd@reytec.com

No. DESCRIPTION DIT DIT TOTAL PRICE UNIT TOTAL PRICE	FRN F	-1386	Ryan Redd Zach Branda					
No. DesCRIPTION DAY DAY DAY DAY PRICE PERTIEM PRICE PERTIEM PRICE PERTIEM PRICE PERTIEM PRICE PARCE					rredd@reddico.com		zbranda@reytec.o	
Mobilization (Not More than 3% of Overall Bid Amount). Including Schedule of Values, Trench Safety Pregiam, Construction Schedule, Preconstruction Pholographs, Obtaining Permits, installation, Maintenance, and Removal of Project Sign., Complete in Place Glearing of Properties and Essements Cwined by Complete in Place Sign., Sign., Complete in Place Sign., Sign., Complete in Place Sign., Sign., Sign., Sign., Sign.			EST.				UNIT	TOTAL PRICE
1 Modizarion (Not More han 3% of Overall Bid Amount), Including Scheduler Of Values, Trench Safety Program, Construction Schedule, Preconstruction Protographs, Obtaining Permits, Installation, Maintenance, and Removal of Project Sign, Complete in Place 2 Glering of Properties and Easterments Owned by 4 AC \$10,525.00 \$42,100.00 \$25,000.00 \$100.0	NO.		QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM
Amount), Including Schedule of Values. Trench Safety Pregram, Construction Schedule, Pre- construction Photographs, Obtaining Permits, Installation, Maintenance, and Removal of Project Sign, Complete in Place 2 Cleaming of Progenties and Essements Owned by Complete in Place 3 Existing Life Staten No. 23 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Fence, and Demolition of Stating Life Staten No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Fleen, and Demolition of Power of the Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Fleen, and Demolition of Power of the Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Fleen, Site Permolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Power, and Demolition of Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Powerment	1		1	1.0	¢1 060 975 00	¢1 060 975 00	¢1 000 000 00	\$1,000,000,00
Safety Program. Construction Schodule, Proconstruction Photographs, Chairing Permits, Installation, Maintenance, and Removal of Project Sign, Complete in Place 2 Clearing of Properties and Essements Owned by the City of African selectories for Construction, Complete in Place 3 Complete in Place 4 AC \$10,525,00 \$42,100,00 \$25,000,00 \$150,00 \$	'	,	'	LS	\$1,000,075.00	\$1,000,675.00	\$1,000,000.00	\$1,000,000.00
Installation, Maintenance, and Removal of Project Sign, Complete in Place								
Sign, Complete in Piace Clearing of Properties and Easements Owned by the City of Alvin as Necessary for Construction. Complete in Piace 3 Existing Lift Station No. 23 - Site Demolition, Including the Removal of the Existing Generator and Foundation. Existing Federator and Valve Vauil. Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pewment, Existing Fence, and Demolition of Existing Station No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation. Existing Federator Pewment, Existing Fence, and Demolition of Phased in Such a Way as to Allow the Cowner Continued Use of the Existing Generator and Foundation. Existing Federator Appling, Existing Asphalt, Concrete, and Gravel Pewment, Existing Fence, and Demolition of Existing Station No. 15 - Site Demolition Including the Removal of the Existing Generator and Foundation. Existing Federator Appling, Existing Asphalt, Concrete, and Gravel Pewment, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Cowner Throughout Construction, Complete in Place 6 Existing Lift Station No. 35 - Site Demolition for Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Cowner Continued Use of the Existing Generator and Foundation. Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Cowner Continued Use of the Existing Generator in Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Cowner Continued Use of the Existing Generator in Existing Fen								
2 Clearing of Properties and Easements Owned by the City of Ahm as Nocessay for Construction, Complete in Place								
the City of Alvin as Necessary for Construction, Complete in Piace 3 Existing Lift Station No. 23 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Powement, Existing Face, and Demolition of Existing Santiary Lift Station and Valve Vault, Phased in Station and Valve Vault, Phased in Station Stating Asphalt, Concrete, and Gravel Pawement, Existing Fence, and Demolition of Existing Santiary Lift Station on Valve Vault, Phased in Station and Valve Vault, Phased in Station Stating Asphalt, Concrete, and Gravel Pawement, Existing Fence, and Demolition of Existing Santiary Lift Station and Valve Vault, Phased in Station Valve Vault, Phased in Sta	2		1	۸С	\$10 525 00	¢42 100 00	\$25,000,00	\$100 000 00
Complete in Place 3 Existing Lift Station No. 23 - Site Demoillion, including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demoillion of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station in Throughout Construction, Complete in Place 4 Existing Hit Station No. 15 - Sine Demoillion, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Existing Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station No. 15 - Sine Demoillion, Including the Removal of the Existing Generator and Foundation, Existing Fence and Demoillion of Existing Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 5 Existing Mechanical Equipment, Existing Fence, and Demoillion of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Sanitary Lift Station not 43 - Site Demoillion of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Removal of the Existing Generator and Foundation, Existing Fence, and Demoillion of Existing Sanitary Lift Station and Valve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Sine Demoillion, Linchaiding the Rem		·	4	AC	\$10,323.00	φ42,100.00	\$25,000.00	\$100,000.00
Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Asphat, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station (1 - 5 size Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Asphat, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Lift Station No. 15 - Site Demolition of Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Pechanical Equipment, Existing Fence, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station of Existing Electrical Components, Existing Mechanical Equipment, Existing Fence, and Demolition of Existing Existing Mechanical Equipment, Existing Fence, and Demolition of Existing Existing Asphat, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Electrical Components, Existing Pechanical Equipment, Existing Fence, and Demolition of Existing Electrical Components, Existing Pechanical Equipment, Existing Fence, and Demolition of Existing Electrical Components, Existing Pechanical Equipment, Existing Fence, and Demolition of Existing Electrical Components, Existing Pechanical Equipment, Existing Fence, and Demolition of Existing Existing Asphat, Concrete, and Gravel Pavement, Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Stati								
and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Throughout Construction. Complete in Place 4. Existing Lift Station No. 15 - Site Demoiltion, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station (Complete in Place) 5. Existing Lift Station No. 15 - Site Demoiltion of Existing Electrical Components, Existing Premay, and Demoiltion of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Premay, and Demoiltion of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Fence, and Demoiltion of Existing Sanitary Lift Station Complete in Place 6. Existing Lift Station No. 43 - Site Demoiltion of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7. Existing Fence, and Demoiltion of Existing Fence, and Demoiltion of Existing Sanitary Lift Stating Lift Station Throughout Construction, Complete in Place 8. Existing Mechanical Equipment, Existing Generator and Foundation, Existing Fence, and Demoiltion of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 9. Existing Lift Station No. 1-1. Site	3		1	LS	\$183,905.00	\$183,905.00	\$150,000.00	\$150,000.00
Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station, 10 - 10 - 5 like Demolition Throughout Construction, Complete in Place 4 Existing Lift Station, 10 - 15 - 5 like Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station, 10 - 15 - 5 like Demolition, Including the Removal of the Existing Generator and Foundation, Existing Ence, and Demolition of Throughout Construction, Complete in Place Osninued Use of the Existing Lift Station Throughout Construction, Complete in Place Osninued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station on All Valve Vault, Phased in Such a Way as to Allow the Owner Consinued Use of the Existing Lift Station Throughout Construction, Complete in Place Osninued Use of the Existing Lift Station Throughout Construction, Complete in Place Osninued Use of the Existing Lift Station Throughout Construction, Complete in Place Osninued Use of the Existing Lift Station Throughout Construction, Complete in Place Osninued Use of the Existing Lift Station Throughout Construction, Complete in Place Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concr								
Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Feno, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station (Complete in Place 1		•						
Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 4. Existing Lift Station No. 16 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 5. Existing Lift Station No. 15 Site Demolition Including the Removal of the Existing Generator and Foundation, Existing Beterical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Complete in Place 6. Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Section of Stating Section Section Stating Section Sec								
Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station in Throughout Construction, Complete in Place 4. Existing Lift Station No. 16 Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Paivement, Existing Fence, and Demolition of Existing Station and Vaive Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station in Place 5. Existing Lift Station No. 15 Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Generator and Foundation, Existing Station, Walve Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Central Paivement, Existing Mechanical Equipment, Existing Ward Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Pence, and Demolition of Existing Sanitary Lift Station and Vaive Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Central Components, Existing Mechanical Equipment, Existing Part of the Existing Central Components, Existing Mechanical Equipment, Existing Part of the Existing Central Components, Existing Mechanical Equipment, Existing Part Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Vaive Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Part Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Vaive Vauit, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Central Components, Existing Mechanical Equipment, Existing Generator and Foundation, Existing Particle Components, Existing Particle Components, Existing Mechanical Equipment, Existing Generator and Foundation, E								
Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 4 Existing Lift Station No. 16 Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Plying, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Stantary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Station No. 14 Site Demolition of Existing Station Pavement, Existing Fence, and Demolition of Existing Station Pavement, Existing Fence, and Demolition of Existing Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 3 Site Demolition of Existing Sharlary Lift Station Assign Electrical Components, Existing Pence, and Demolition of Existing Sharlary Lift Station Complete in Place Pavement, Existing Fence, and Demolition of Existing Sharlary Lift Station Complete in Place Pavement, Existing Fence, and Demolition of Existing Sharlary Lift Station No. 13 - Site Demolition of Existing Sharlary Lift Station No. 14 - Site Demolition of Existing Sharlary Lift Station No. 15 - Site Demolition of Existing Sharlary Lift Station No. 23 - Continued Use of the Existing Generator and Foundation, Existing Particle Pavement, Existing Pence, and Demolition of Existing Sharlary Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Connotes, Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Connotes, Lift Station No. 23 - Site Work, Including But								
4 Existing Lift Station No. 16 - Site Demolition, including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Ashalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Station and Vaive Vault, Passed in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 5 Existing Lift Station No. 15 - Site Demolition of Existing Station, Existing Station, Throughout Construction, Complete in Place 5 Existing Lift Station No. 15 - Site Demolition of Existing Station, Throughout Construction, Complete in Place 6 Existing Lift Station and Vaive Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Pence, and Demolition of Existing Station, Little Station, and Vaive Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Pence, and Demolition of Existing Shalt, Concrete, and Gravel Pavement, Existing Pence, and Demolition of Existing Shalt, Concrete, and Gravel Pavement, Existing Pence, and Demolition of Existing Shalt Concrete, and Gravel Pavement, Existing Pence, and Demolition of Existing Sanitary Lift Station and Vaive Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Cenerator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Pence, and Demolition of Existing Sanitary Lift Station and Vaive Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Cenerator and Foundation, Existing Pence, and Demolition of Existing Sanitary Lift Station and Vaive Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Cenerator and Foundation, Existing Pence, and Demolition of Existing Sanitary Lift Station and Vaive Vault, Phased in Such a Way as to Allow the O								
Existing Lift Station No. 16 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Arard Piping, Existing Ashat, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Stating Generator, and Foundation, Existing Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Lift Station No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Ashat, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Fence, and Carbon Carbo								
Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Ard Piping, Existing Aphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Fence, and Demolition for Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Care Continued Use of the Existing Lift Station on Care Continued Use of the Existing Generator and Foundation, Existing Fence, and Demolition of Existing Existing Mechanical Equipment, Existing Ard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Pence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Thoughout Construction, Complete in Place 8. Lift Station No. 23 - Store, Associated Store Valve Pavement, Existing Pence, and Demolition of Existing Existing Associa	4	•	1	LS	\$68,275.00	\$68,275.00	\$150,000.00	\$150,000.00
Existing Mechanical Equipment, Existing Yard Piping, Existing Asphatt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Yalve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphatt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Yalve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Fence, and Demolition of Existing Sanitary Lift Station and Yalve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Throughout Construction, Complete in Place 8. Lift Station No. 3: Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station No. 3: Concrete, and Concrete Valve Paul, Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bolladris, and Access Hatchica,		Including the Removal of the Existing Generator			, 3.33	,		,,,,,,,,,,
Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station 5								
Pavement, Existing Fence, and Demolition of Existing Sanitary. Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Introughout Construction, Complete in Place 5 Existing Lift Station No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Fance, and Demolition of Existing Mechanical Equipment, Existing Fance, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drianage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wate Plad, Including Access Hatches, Vent								
Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 5 Existing Lift Station No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Senerator and Foundation, Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Fard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fath, Concrete, and Gravel Pavement, Existing Father, Concrete, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Se								
Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 5 Existing Lift Station No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Senerator and Foundation, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Fence, and Demolition of Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited Use of the Existing Fard Concrete, Turf Establishment by Hydromutch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Throughout Construction, Complete in Place 5 Existing Lift Station No. 15 - Site Demolition, 1 Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 43 - Site Demolition, 1 Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Electrical Components, Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Lift Station No. 1 - Site Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Variang Papament, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not 1 LS \$11,447.00 \$11,447.00 \$50,000.00 \$50,00 Lift Station No. 23 - Site Work Including But Not 1 LS \$1,447.00 \$1,447.00 \$2,000,000.00 \$2,000,000 Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet 1 LS \$3,797,510.00 \$3,797,510.00 \$2,000,000.00 \$2,000,000.00 Plans and Outlined in Specifications, and all Appurtenances, Complete in Place Water During Construction, all Accessories Shown		•						
Existing Lift Station No. 15 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Fare, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Central Components, Existing Mechanical Equipment, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not to Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromutch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water								
Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtnances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown			4	1.0	ΦΕ4 F00 00	Φ Γ 4 Γ 00 00	#450,000,00	#450,000,00
and Foundation, Existing Blectrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Vard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatening, Control of Ground Water and Surface Water During Construction, and S	5		1	LS	\$54,590.00	\$54,590.00	\$150,000.00	\$150,000.00
Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 6 Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Mechanical Equipment, Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Fence, and Demolition of Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Generator Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station on Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromuch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place It If Station No. 23 - Concrete Welt Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Benerator and Foundation, Existing Generator and Foundation, Existing Generator and Foundation, Existing Generator and Foundation, Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Elift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place Lift Station No. 23 - Concrete Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Generator String Existing Station And Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Pard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Pence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		-						
Continued Use of the Existing Lift Station Throughout Construction, Complete in Place Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Fence, and Gravel Pavement, Existing Fence, and Gravel Piping, Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Generator and Foundation, Existing Generator and Foundation, Existing Fence, and Gravel Pavement, Existing Fence, and Bravel Pavement, Existing Fence, and Favel Pavement, Existing Fence, and Gravel Pavementory of the Existing Sence and Sence of Sence o								
Existing Lift Station No. 43 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7		•						
Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown	6	•	1	LS	\$91,045.00	\$91,045.00	\$150,000.00	\$150,000.00
Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		•						
Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		-						
Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		· ·						
Throughout Construction, Complete in Place 7 Existing Lift Station No. 1 - Site Demolition, Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Including the Removal of the Existing Generator and Foundation, Existing Electrical Components, Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown	7	Existing Lift Station No. 1 - Site Demolition,	1	LS	\$68,276.00	\$68,276.00	\$150,000.00	\$150,000.00
Existing Mechanical Equipment, Existing Yard Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		Including the Removal of the Existing Generator						
Piping, Existing Asphalt, Concrete, and Gravel Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Pavement, Existing Fence, and Demolition of Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Existing Sanitary Lift Station and Valve Vault, Phased in Such a Way as to Allow the Owner Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Continued Use of the Existing Lift Station Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		Existing Sanitary Lift Station and Valve Vault,						
Throughout Construction, Complete in Place 8 Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
B Lift Station No. 23 - Site Work, Including But Not Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		•						
Limited to Site Grading, Site Drainage, Crushed Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown	8		1	LS	\$11,447,00	\$11,447.00	\$50,000 00	\$50,000.00
Concrete, Turf Establishment by Hydromulch Seeding, and Pipe Bollards, all Accessories Shown on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown			'		4 , 1 . 7 . 50	ψ,	\$55,555.55	400,000.00
on Plans and Outlined in Specifications, and all Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
Appurtenances, Complete in Place 9 Lift Station No. 23 - Concrete Wet Well, 24-Feet Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown								
9 Lift Station No. 23 - Concrete Wet Well, 24-Feet 1 LS \$3,797,510.00 \$2,000,000.00 \$2,000,000.00 Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		·						
Inside Diameter, and Concrete Valve Pad, Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown	9		1	I.S.	\$3,797,510,00	\$3,797,510,00	\$2,000,000,00	\$2,000,000.00
Including Access Hatches, Vent, Well Point Dewatering, Control of Ground Water and Surface Water During Construction, all Accessories Shown		· ·	'		75,757,570.00	¥5,151,010.00	+=,555,555.55	+=,000,000.00
Water During Construction, all Accessories Shown		Including Access Hatches, Vent, Well Point						
		<u> </u>						
		•						
Appurtenances, and All Other Items Not Contained		· · · · · · · · · · · · · · · · · · ·						
within a Separate Bid Item, Complete in Place								

City o Lift St LJA P	Bid Tabulation - Bid Opening, March 11, 2025 City of Alvin Lift Station 23 Expansion & Elimination of Lift Stations LJA Project No. E231-0060 FRN F-1386			Reddico Construction Company, Inc. 10083 Airport Road Conroe, TX 77303 936-441-9500 Ryan Redd rredd@reddico.com		Reytec Construction Resources, Inc. 1901 Hollister Street Houston, TX 77080 832-651-8923 Zach Branda zbranda@reytec.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM
10	Lift Station No. 23 - Submersible Non-Clog Sewage Pumps, Minimum Efficiency of 70%, Four Pumps with Min. Firm Capacity of 6,250 GPM with Three Pumps in Operation, One Low Speed Submersible Mixer Capable of Providing Movement Throughout the Lift Station Contents While Pumps are Not Energized, Including Discharge Elbows, Guide Rails, all Accessories Shown on Plans and Outlined in Specifications, and All Appurtenances for a Complete Installation of the Proposed Pumps, Complete in Place	1	LS	\$489,997.00	\$489,997.00	\$500,000.00	\$500,000.00
11	Lift Station No. 23 - Sanitary Lift Station and Valve Pad Yard Piping, On-Site Underground Yard Piping, Including Pipe, Valves, Fittings, Supports, Pre-Fabricated Discharge Header, Proposed Force Main, Water Service Connection with Associated Backflow Preventer and Hose Bibb, Dewatering, all Accessories Shown on Plans and Outlined in Specifications, and All Appurtenances for a Complete Installation of the Proposed Piping, Complete in Place		LS	\$473,984.00	\$473,984.00	\$750,000.00	\$750,000.00
12	Lift Station No. 23 - Furnish and Install Monorail Crane System with 2-Ton Capacity Electric Chain Hoist, Including Drilled Shaft Footings, Supports, Structural Steel, Electrical Components, and All Appurtenances Necessary for a Complete Installation of the Monorail Crane System and Hoist, as Shown on Plans, (All Components Must Be Suitable for Outdoor Installations), Complete in Place	1	LS	\$62,017.00	\$62,017.00	\$100,000.00	\$100,000.00
13	Lift Station No. 23 - 7-Inch Thick Reinforced Concrete Site Paving, Access Drive, Including 6- Inch Lime/Fly-ash Stabilized Subgrade OR Cement- Stabilized Subgrade, in Accordance with the Geotechnical Engineering Report and Details and Specifications, Complete in Place	250	SY	\$143.00	\$35,750.00	\$150.00	\$37,500.00
14	Lift Station No. 23 - 4-Inch Thick Crushed Concrete Over 8-Inch Cement Stabilized Subgrade Site Coverage, Complete in Place	265	SY	\$65.00	\$17,225.00	\$50.00	\$13,250.00
15	Lift Station No. 23 - 4-1/2-Inch Thick Reinforced Concrete Sidewalk, In Accordance with Details on Plans and Specifications, Complete in Place	15	SY	\$277.00	\$4,155.00	\$100.00	\$1,500.00
16	Lift Station No. 23 - 8-Feet Tall Chain Link Fence, Commercial Black Vinyl, Including Roller Gate, Concrete Mow Strip, and All Appurtenances, in Accordance with Details on Plans and Specifications, Complete in Place (Addendum No. 2)	60	LF	\$297.00	\$17,820.00	\$100.00	\$6,000.00
17	Lift Station No. 23 - 8-Feet Tall Wood Fence, Including Personnel Gate, Concrete Mow Strip and All Appurtenances, in Accordance with Details on Plans and Specifications, Complete in Place (Addendum No. 2)	245	LF	\$152.00	\$37,240.00	\$100.00	\$24,500.00
18	Lift Station No. 23 - Electrical System Installation, Provide and Install All Work Shown on Plans and Described in the Specifications, Including, But Not Limited to, As Follows: Underground Duct Bank to Transformer Pole, New Motor Control Center with Foundation, New Duct Banks to Generator, Lighting and Receptacles, Pump Motor Feeders and Terminal Boxes, Electrical Service Equipment, Coordination with the Electric Company for New Service and Demolition of Old Service, and All Appurtenances, in Accordance with Details on Plans and Specifications, Complete in Place	1	LS	\$205,950.00	\$205,950.00	\$250,000.00	\$250,000.00
19	Lift Station No. 23 - Stand-By Natural Gas Generator, Including Reinforced Concrete Foundation, Automatic Transfer Switch, Fuel Transfer System, Electrical Components, all Accessories Shown on Plans and Outlined in	1	LS	\$218,800.00	\$218,800.00	\$200,000.00	\$200,000.00

Accessories Shown on Plans and Outlined in Specifications, Coordination with Electric Company

for Approval of Automatic Transfer Switch if Required, Coordination with the Gas Company for Installation of Gas Service and Meter, and All Appurtenances for a Complete Installation of the Proposed Generator, Complete in Place

Reytec Construction Resources, Inc. Bid Tabulation - Bid Opening, March 11, 2025 Reddico Construction Company, Inc. 1901 Hollister Street 10083 Airport Road City of Alvin Conroe, TX 77303 Houston, TX 77080 Lift Station 23 Expansion & Elimination of Lift Stations 1, 15, 16, & 43 936-441-9500 832-651-8923 LJA Project No. E231-0060 Ryan Redd Zach Branda FRN F-1386 rredd@<u>reddico.com</u> zbranda@reytec.com **TOTAL PRICE** ITEM **TOTAL PRICE** EST. **UNIT UNIT PRICE PRICE** PER ITEM NO. **DESCRIPTION** QTY. UNITS PER ITEM \$2,947.00 20 Provide Flow Control and Bypass Pumping Plan, LS \$2,947.00 \$25,000.00 \$25,000.00 Sealed by a Professional Engineer Licensed in Texas, Including Pre-Installation System Investigation, Complete in Place 21 Flow Control and Bypass Pumping as Required for LS \$705,545.00 \$705,545.00 \$700,000.00 \$700,000.00 1 Installation of Proposed Facilities, Removal and Abandonment of Existing Facilities, Including Bypass Pump Installation, Operation/Maintenance, and Removal, Monitoring During All Phases of Construction, and All Appurtenances, In Accordance with Specifications, Complete in Place Well Point Dewatering for Proposed Sanitary 25,650 \$10.00 \$256,500.00 \$10.00 22 LF \$256,500.00 Sewer System Installation, Control of Ground Water and Surface Water, Complete in Place Rehabilitate Existing 30-Inch Sanitary Sewer Line, 1,750 LF \$329.00 \$575,750.00 \$350.00 \$612,500.00 CIPP Method, MH to MH, Including Cleaning & CCTV Inspection Prior to Rehabilitation, Internal Reconnection of Service Leads, and All Appurtenances, Complete in Place Rehabilitate Existing 12-Inch Sanitary Sewer Line, 1,305 LF \$128.00 \$167,040.00 \$150.00 \$195,750.00 Pipe Burst Method Method (HDPE DR 19 OR PVC C900 RJIB DR 18, Green), MH to MH, Including Cleaning & CCTV Inspection Prior to Rehabilitation and All Appurtenances, Complete in Place Sanitary Sewer Manhole Reconstruction, \$584.00 \$118,552.00 \$200.00 25 203 VF \$40,600.00 Protective Coating / Lining, Including Manhole Preparation, Testing, and All Appurtenances, 26 Remove and Replace Manhole Frame and Cover EΑ 8 \$2,128.00 \$17,024.00 \$3,000.00 \$24,000.00 on Reconstructed Sanitary Sewer Manholes, Including Adjustment Rings and All Appurtenances, Complete in Place Short Service Re-Connections On Pipe Burst 27 3 EΑ \$1,297.00 \$3,891.00 \$2,000.00 \$6,000.00 Lines, Including Normal and Deep Connections, and Clean Out (4-Inch or 6-Inch), Complete in

5

3,055

335

3,470

9,910

1,590

1,345

1,675

445

165

EΑ

LF

LF

LF

LF

LF

LF

LF

LF

LF

\$1,770.00

\$11.00

\$515.00

\$312.00

\$722.00

\$433.00

\$258.00

\$272.00

\$133.00

\$192.00

\$8,850.00

\$33,605.00

\$172,525.00

\$1,082,640.00

\$7,155,020.00

\$688,470.00

\$347,010.00

\$455,600.00

\$59,185.00

\$31,680.00

\$4,000.00

\$5.00

\$700.00

\$650.00

\$650.00

\$600.00

\$550.00

\$550.00

\$500.00

\$450.00

\$300.00

\$20,000.00

\$15,275.00

\$234,500.00

\$2,255,500.00

\$6,441,500.00

\$954,000.00

\$739,750.00

\$837,500.00

\$200,250.00

\$49,500.00

28

29

30

36

38

Long Service Re-Connections On Pipe Burst Lines,

Cleaning and CCTV Inspection (Post Installation)

of Rehabilitated Gravity Sanitary Sewer Lines (All

36-Inch PVC Pipe (PS115) Gravity Sanitary Sewer

Installation, Open Cut or Trenchless Construction (Over 20ft Depth), Including Testing and All

27-Inch PVC Pipe (PS115) Gravity Sanitary Sewer

Installation, Open Cut or Trenchless Construction (Up to 20ft Depth), Including Testing and All

27-Inch PVC Pipe (PS115) Gravity Sanitary Sewer

Installation, Open Cut or Trenchless Construction (Over 20ft Depth), Including Testing and All

21-Inch PVC Pipe (PS115) Gravity Sanitary Sewer

Installation, Open Cut or Trenchless Construction (Over 20ft Depth), Including Testing and All

18-Inch PVC Pipe (PS115) Gravity Sanitary Sewer

Installation, Open Cut or Trenchless Construction (Up to 20ft Depth), Including Testing and All

18-Inch PVC Pipe (PS115) Gravity Sanitary Sewer

Including Testing and All Appurtenances, Complete

Including Testing and All Appurtenances, Complete

Including Testing and All Appurtenances, Complete

Installation, Open Cut or Trenchless Construction (Over 20ft Depth), Including Testing and All

Including Normal and Deep Connections, and Clean Out (4-Inch or 6-Inch), Complete in Place

Sizes), Complete in Place

Appurtenances, Complete in Place

15-Inch PVC Pipe (SDR26, PS115) Gravity

12-Inch PVC Pipe (SDR26, PS115) Gravity

10-Inch PVC Pipe (SDR26, PS115) Gravity

Sanitary Sewer Installation, Open Cut or Trenchless Construction (Up to 20ft Depth).

Sanitary Sewer Installation, Open Cut or Trenchless Construction (Up to 20ft Depth),

Sanitary Sewer Installation, Open Cut or Trenchless Construction (Up to 20ft Depth),

Bid Ta	abulation - Bid Opening, March 11, 2025		Reddico Constructi	on Company, Inc.	Reytec Construction	n Resources, Inc.		
City o	f Alvin			10083 Airport Ro	ad	1901 Hollister Stre	eet	
Lift St	ation 23 Expansion & Elimination of Lift Stations	1, 15, 10	6, & 43	Conroe, TX 7730	3	Houston, TX 7708	80	
LJA P	roject No. E231-0060			936-441-9500		832-651-8923		
FRN F	FRN F-1386			Ryan Redd		Zach Branda		
				rredd@reddico.co	<u>om</u>	zbranda@reytec.d	<u>com</u>	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	
39	8-Inch PVC Pipe (SDR26, PS115) Gravity Sanitary Sewer Installation, Open Cut or Trenchless Construction (Up to 20ft Depth), Including Testing and All Appurtenances, Complete in Place	80	LF	\$171.00	\$13,680.00	\$250.00	\$20,000.00	
40	6-Inch PVC Pipe (SDR26, PS115) Gravity Sanitary	15	LF	\$154.00	\$2.310.00	\$200.00	\$3.000.00	

				rredd@reddico.co	<u>om</u>	zbranda@reytec.o	<u>com</u>
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM
39	8-Inch PVC Pipe (SDR26, PS115) Gravity Sanitary Sewer Installation, Open Cut or Trenchless Construction (Up to 20ft Depth), Including Testing and All Appurtenances, Complete in Place	80	LF	\$171.00	\$13,680.00	\$250.00	\$20,000.00
40	6-Inch PVC Pipe (SDR26, PS115) Gravity Sanitary Sewer Installation, Open Cut or Trenchless Construction (Up to 20ft Depth), Including Testing and All Appurtenances, Complete in Place	15	LF	\$154.00	\$2,310.00	\$200.00	\$3,000.00
41	24-Inch PVC Pipe (AWWA C-900, DR-18) Force Main with Ductile Iron Fittings Installation, Open Cut or Trenchless Construction (All Depths), Joint Restraints (as necessary), Including All Appurtenances, Complete in Place	5,030	LF	\$283.00	\$1,423,490.00	\$700.00	\$3,521,000.00
42	PVC Pipe, Less than 4-Inch, (Sh. 40 PVC) Force Main with PVC Fittings Installation, Open Cut Construction (All Depths), Including Connection to Existing Force Main, and All Appurtenances, Complete in Place	20	LF	\$67.00	\$1,340.00	\$200.00	\$4,000.00
43	36-Inch Steel Casing (Min. 1/2" Wall Thickness, Rolled Steel) Installation for Gravity Sanitary Sewer or Force Main, Open Cut or Trenchless Construction (All Depths), Including Spacers, End Seals, and All Appurtenances, Complete in Place	1,235	LF	\$878.00	\$1,084,330.00	\$250.00	\$308,750.00
44	30-Inch Steel Casing (Min. 1/2" Wall Thickness, Rolled Steel) Installation for Gravity Sanitary Sewer, Open Cut or Trenchless Construction (All Depths), Including Spacers, End Seals, and All Appurtenances, Complete in Place	100	LF	\$738.00	\$73,800.00	\$200.00	\$20,000.00
45	30-Inch Steel Casing (Min. 1/2" Wall Thickness, Rolled Steel) Installation for Gravity Sanitary Sewer at Railroad Crossing, Trenchless Construction (All Depths), Including Spacers, End Seals, and All Appurtenances, with Fusion Bonded Epoxy Coating or Cathodic Protection, Complete in Place		LF	\$801.00	\$120,150.00	\$300.00	\$45,000.00
45A	20-Inch Steel Casing (Min. 1/2" Wall Thickness, Rolled Steel) Installation for Gravity Sanitary Sewer, Open Cut or Trenchless Construction (All Depths), Including Spacers, End Seals, and All Appurtenances, Complete in Place	100	LF	\$288.00	\$28,800.00	\$85.00	\$8,500.00
46	Short Service Re-Connections On Proposed Sanitary Sewer, Including Normal and Deep Connections, and Clean Out (4-Inch or 6-Inch), Complete in Place	27	EA	\$3,895.00	\$105,165.00	\$2,500.00	\$67,500.00
47	Long Service Re-Connections On Proposed Sanitary Sewer, Including Normal and Deep Connections, and Clean Out (4-Inch or 6-Inch), Complete in Place	31	EA	\$7,037.00	\$218,147.00	\$4,500.00	\$139,500.00
48	Cleaning and CCTV Inspection (Post Installation) of New Gravity Sanitary Sewer Lines (All Sizes), Complete in Place	20,620	LF	\$3.50	\$72,170.00	\$3.00	\$61,860.00
49	Air Release Valve on 24-Inch Force Main w/ Access Manhole, 5-Foot Diameter Standard Pre- Cast Concrete Sanitary Manhole, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Proposed Lines as Required, and All Appurtenances, Complete in Place	1	EA	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00
50	Force Main Discharge Manhole, Corrosion Resistant Polymer Concrete Manhole, 8-Foot Diameter Base, Including Risers (Full Depth), Internal Drop Connection, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	1	EA	\$169,987.00	\$169,987.00	\$135,000.00	\$135,000.00
51	Force Main Discharge Manhole, Corrosion Resistant Polymer Concrete Manhole, 5-Foot Diameter Base, Including Risers (Full Depth), External Drop Connection, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	1	EA	\$88,825.00	\$88,825.00	\$80,000.00	\$80,000.00
52	Corrosion Resistant Polymer Concrete Manhole, 6- Foot Diameter Base, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	9	EA	\$66,906.00	\$602,154.00	\$85,000.00	\$765,000.00

Bid Tabulation - Bid Opening, March 11, 2025
City of Alvin
Lift Station 23 Expansion & Elimination of Lift Stations 1, 15, 16, & 43
LJA Project No. E231-0060
FRN F-1386
Reddico Construction Company
10083 Airport Road
Conroe, TX 77303
936-441-9500
Ryan Redd

Reddico Construction Company, Inc.

10083 Airport Road

Conroe, TX 77303

936-441-9500

Ryan Redd

rredd@reddico.com

Reytec Construction Resources, Inc.

1901 Hollister Street

Houston, TX 77080

832-651-8923

Zach Branda

zbranda@reytec.com

FKNF	-1386			rredd@reddico.co	om.	zbranda@reytec.o	com
ITEM		EST			TOTAL PRICE		TOTAL PRICE
NO.	DESCRIPTION	EST. QTY.	UNITS	UNIT PRICE	PER ITEM	UNIT PRICE	PER ITEM
53	Corrosion Resistant Polymer Concrete Manhole, 5-	61	EA	\$40,877.00	\$2,493,497.00	\$65,000.00	\$3,965,000.00
00	Foot Diameter Base, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	01		ψ+0,011.00	ΨΣ, +00, +01.00	ψοσ,σσσ.σσ	ψο,σσο,σσο.σσ
54	Corrosion Resistant Polymer Concrete Manhole, 5- Foot Diameter Base, with Cast-In-Place Base (Doghouse MH), Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	1	EA	\$24,830.00	\$24,830.00	\$65,000.00	\$65,000.00
54A	Corrosion Resistant Polymer Concrete Manhole, 4- Foot Diameter Base, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place	2	EA	\$26,202.00	\$52,404.00	\$40,000.00	\$80,000.00
55	External Drop Connection, 15-Inch and Larger, at Proposed Sanitary Sewer Manhole, Complete in Place	3	EA	\$5,789.00	\$17,367.00	\$10,000.00	\$30,000.00
56	External Drop Connection, 12-Inch and Smaller, at Proposed Sanitary Sewer Manhole, Complete in Place	35	EA	\$3,070.00	\$107,450.00	\$6,500.00	\$227,500.00
57	Connect Proposed Sanitary Sewer, 15-Inch and Larger, to Existing Sanitary Manhole (All Depths), Including Coring Existing Manhole, All Appurtenances, Complete in Place	3	EA	\$4,453.00	\$13,359.00	\$10,000.00	\$30,000.00
58	Connect Proposed Sanitary Sewer, 12-Inch and Smaller, to Existing Sanitary Manhole (All Depths), Including Coring Existing Manhole, All Appurtenances, Complete in Place	2	EA	\$2,575.00	\$5,150.00	\$7,500.00	\$15,000.00
59	Connect Proposed Sanitary Sewer, 12-Inch and Smaller, to Existing Sanitary Sewer Line with Concrete Collar (All Depths), Including All Appurtenances, Complete in Place	8	EA	\$2,171.00	\$17,368.00	\$3,500.00	\$28,000.00
60	Cut and Plug Existing Sanitary Sewer, 21-Inch and Larger, All Depths, Complete in Place	1	EA	\$1,662.00	\$1,662.00	\$3,500.00	\$3,500.00
61	Cut and Plug Existing Sanitary Sewer, 18-Inch and Smaller, All Depths, Complete in Place	24	EA	\$1,234.00	\$29,616.00	\$2,500.00	\$60,000.00
62	Plug Existing Sanitary Sewer at Existing Manhole, 21-Inch and Larger, All Depths, Complete in Place	1	EA	\$1,662.00	\$1,662.00	\$3,500.00	\$3,500.00
63	Plug Existing Sanitary Sewer at Existing Manhole, 18-Inch and Smaller, All Depths, Complete in	8	EA	\$1,234.00	\$9,872.00	\$2,500.00	\$20,000.00
64	Remove Existing Sanitary Sewer (All Depths), 21- Inch and Larger, as Required for Construction of Proposed Sanitary Sewer, Complete in Place	135	LF	\$33.00	\$4,455.00	\$15.00	\$2,025.00
65	Remove Existing Sanitary Sewer (All Depths), 18- Inch and Smaller, as Required for Construction of Proposed Sanitary Sewer, Complete in Place	10,470	LF	\$32.50	\$340,275.00	\$5.00	\$52,350.00
66	Remove Existing Sanitary Manhole (All Depths) and All Appurtenances not to be Utilized in the Final Configuration, Includes Plugging of Existing Sanitary Sewer Lines and All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	39	EA	\$3,799.00	\$148,161.00	\$500.00	\$19,500.00
67	Abandon Existing Sanitary Manhole (All Depths), Includes Plugging of Existing Sanitary Sewer Lines and All Appurtenances as Required for Construction of Proposed Sanitary Sewer,	16	EA	\$1,808.00	\$28,928.00	\$750.00	\$12,000.00
68	Fill Abandoned Sanitary Sewer Gravity Line, 21- Inch and Larger, with Cement Slurry, All Depths, Including Cleaning Existing Line Prior to Slurry Filling, Complete in Place	400	LF	\$73.00	\$29,200.00	\$30.00	\$12,000.00
69	Fill Abandoned Sanitary Sewer Gravity Line, 18-Inch and Smaller, with Cement Slurry, All Depths, Including Cleaning Existing Line Prior to Slurry Filling, Complete in Place	2,925	LF	\$39.00	\$114,075.00	\$10.00	\$29,250.00

Bid Tabulation - Bid Opening, March 11, 2025
City of Alvin
Lift Station 23 Expansion & Elimination of Lift Stations 1, 15, 16, & 43
LJA Project No. E231-0060
FRN F-1386
Redd
1008
Conr

Reddico Construction Company, Inc.

10083 Airport Road

Conroe, TX 77303

936-441-9500

Ryan Redd

rredd@reddico.com

Reytec Construction Resources, Inc.

1901 Hollister Street

Houston, TX 77080

832-651-8923

Zach Branda

zbranda@reytec.com

FRN F	RN F-1386			Ryan Redd rredd@reddico.co	<u>om</u>	Zach Branda zbranda@reytec.com	
ITEM NO.	DESCRIPTION	EST. QTY.	UNITS	UNIT PRICE	TOTAL PRICE PER ITEM	UNIT PRICE	TOTAL PRICE PER ITEM
70	DESCRIPTION Fill Abandoned Sanitary Force Main, 16-Inch and Smaller, with Cement Slurry, All Depths, Including Cleaning Existing Line Prior to Slurry Filling, Complete in Place	1,625	LF	\$47.00	\$76,375.00	\$8.00	\$13,000.00
71	Remove and Replace 20 LF Sections of Existing Waterline, 8-Inch and Larger, (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Joint Restraints, and All Appurtenances as Required for Construction of Proposed Sanitary Sewer,	10	EA	\$4,215.00	\$42,150.00	\$5,000.00	\$50,000.00
72	Remove and Replace 20 LF Sections of Existing Waterline, 6-Inch and Smaller, (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Joint Restraints, and All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	4	EA	\$3,827.00	\$15,308.00	\$4,000.00	\$16,000.00
73	Remove and Replace Existing Fire Hydrants, with Restrained Joints, All Depths, Concrete Collar, Thrust Block, Complete in Place	3	EA	\$9,384.00	\$28,152.00	\$8,000.00	\$24,000.00
74	Remove and Replace Existing Gate Valve, 8-Inch and Larger, with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place	4	EA	\$7,667.00	\$30,668.00	\$3,500.00	\$14,000.00
75	Remove and Replace Existing Gate Valve, 6-Inch and Smaller, with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place	4	EA	\$3,164.00	\$12,656.00	\$3,000.00	\$12,000.00
76	Remove and Reset Existing Water Meter and Vault, 2-Inch and Smaller, Complete in Place	17	EA	\$573.00	\$9,741.00	\$1,000.00	\$17,000.00
77	Remove and Reset Existing Water Meter and Vault, Larger than 2-Inch, Complete in Place	2	EA	\$2,862.00	\$5,724.00	\$1,500.00	\$3,000.00
78	Remove and Replace Existing Storm Sewer Culverts, 24-Inch and Larger, Utilizing Like Material as Existing, and All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	200	LF	\$166.00	\$33,200.00	\$150.00	\$30,000.00
79	Remove and Replace Existing Storm Sewer Culverts, 18-Inch and Smaller, Utilizing Like Material as Existing, and All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	850	LF	\$105.00	\$89,250.00	\$135.00	\$114,750.00
80	Remove and Replace Existing Storm Sewer Inlets, Per City of Alvin Standard Details, Including All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	10	EA	\$4,748.00	\$47,480.00	\$3,500.00	\$35,000.00
81	Remove and Replace Existing Chain-Link Fence, Installed to Like or Better Condition, Including All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	330	LF	\$16.00	\$5,280.00	\$50.00	\$16,500.00
82	Remove and Replace Existing Welded Steel Pipe Fence, Installed to Like or Better Condition, Including All Appurtenances as Required for Construction of Proposed Sanitary Sewer, Complete in Place	220	LF	\$26.00	\$5,720.00	\$50.00	\$11,000.00
83	Remove and Reset Existing Street Signs as Required Due to Construction, Including All Appurtenances, Complete in Place	36	EA	\$287.00	\$10,332.00	\$85.00	\$3,060.00
84	Remove and Replace Existing Mailboxes as Required Due to Construction, Including All Appurtenances, Complete in Place	15	EA	\$287.00	\$4,305.00	\$750.00	\$11,250.00
85	Provide Trench Safety Plan, Sealed by a Professional Engineer Licensed in Texas, Complete in Place	1	LS	\$1,002.00	\$1,002.00	\$10,000.00	\$10,000.00
86	Trench Safety System in Accordance with Trench Safety Plan for All Excavations in Excess of 5-Feet Deep, Including Design, Supervision, Maintenance, and All Necessary Appurtenances, Complete in Place	25,650	LF	\$1.00	\$25,650.00	\$5.00	\$128,250.00
87	Turf Establishment, Hydromulch Seeding, Complete in Place	5	AC	\$3,242.00	\$16,210.00	\$2,000.00	\$10,000.00
88	Asphalt Surface Restoration, Including 8-Inch Thick Asphalt Base, Gr. 2, PG-64, Per TXDOT Item 292, and 2-Inch Thick HMHL Surface Coarse, Type "D" per TXDOT Item 340, Includes Saw-Cut and Removal of Existing Pavement, Complete in	5,000	SY	\$171.00	\$855,000.00	\$85.00	\$425,000.00

Bid Tabulation - Bid Opening, March 11, 2025 City of Alvin Lift Station 23 Expansion & Elimination of Lift Stations 1, 15, 16, & 43 LJA Project No. E231-0060 FRN F-1386

Reddico Construction Company, Inc.

10083 Airport Road

Conroe, TX 77303

936-441-9500

Ryan Redd

rredd@reddico.com

Reytec Construction Resources, Inc.

1901 Hollister Street

Houston, TX 77080

832-651-8923

Zach Branda

zbranda@revtec.com

FRN F	-1386			rredd@reddico.co	om	zbranda@reytec.o	com
ITEM		EST.		UNIT UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM
89	Concrete Surface Restoration, Per Detail, Includes Saw-Cut and Removal of Existing Concrete, Complete in Place	2,250	SY	\$160.00	\$360,000.00	\$150.00	\$337,500.00
90	Surface Restoration, Unpaved Surface (Gravel or Shell), Complete in Place	500	SY	\$95.00	\$47,500.00	\$50.00	\$25,000.00
91	Steele Road - Existing Asphalt Roadway and Driveway Excavation, Complete in Place	4,000	CY	\$85.00	\$340,000.00	\$25.00	\$100,000.00
92	Steele Road - Cut / Excavation for Road Finished Grade, Blading of Excavation to Embankment Area (Less than 0.5 miles), Placement and Compaction to 95% Standard Procter Density, Removal of Excess Off Site, Complete in Place	1,750	CY	\$65.00	\$113,750.00	\$25.00	\$43,750.00
93	Steele Road - Embankment for Road Finished Grade, Placement and Compaction to 95% Standard Procter Density, Complete in Place	1,650	CY	\$42.00	\$69,300.00	\$25.00	\$41,250.00
94	Steele Road - Lime for 8-Inch Stabilized Sub- Grade (6% by Dry weight - 40 lb/sy), Complete in	320	TON	\$448.00	\$143,360.00	\$350.00	\$112,000.00
95	Steele Road - 8-Inch Stabilized Sub-Grade (Manipulation), Complete in Place	15,875	SY	\$12.50	\$198,437.50	\$8.00	\$127,000.00
96	Steele Road - 7-Inch Reinforced Concrete Pavement (Minimum 5.5 Sacks per Cubic Yard), Complete in Place	14,655	SY	\$100.50	\$1,472,827.50	\$85.00	\$1,245,675.00
97	Steele Road - 6-Inch Reinforced Concrete Driveway (Minimum 5.5 Sacks per Cubic Yard), Complete in Place	1,075	SY	\$85.00	\$91,375.00	\$135.00	\$145,125.00
98	Steele Road - Asphalt Transition Pavement, Including 8-Inch Thick Asphalt Base, Gr. 2, PG-64, Per TXDOT Item 292, and 2-Inch Thick HMHL Surface Coarse, Type "D" per TXDOT Item 340, Includes Saw-Cut and Removal of Existing Pavement, Complete in Place	335	SY	\$188.00	\$62,980.00	\$120.00	\$40,200.00
99	Steele Road - 5-Inch Reinforced Concrete Slope Paving (Roadside Ditch), Complete in Place	450	SY	\$170.00	\$76,500.00	\$100.00	\$45,000.00
100	Steele Road - 30-Inch Reinforced Concrete Pipe, ASTM C-76, Class III, Complete in Place	305	LF	\$194.00	\$59,170.00	\$225.00	\$68,625.00
101	Steele Road - 24-Inch Reinforced Concrete Pipe, ASTM C-76, Class III, Complete in Place	310	LF	\$155.00	\$48,050.00	\$175.00	\$54,250.00
102	Steele Road - 18-Inch Reinforced Concrete Pipe, ASTM C-76, Class III, Complete in Place	1,165	LF	\$120.00	\$139,800.00	\$125.00	\$145,625.00
103	Steele Road - Reinforced Concrete Safety End Treatment for 30-Inch RCP, Complete in Place	6	EA	\$5,905.00	\$35,430.00	\$5,000.00	\$30,000.00
104	Steele Road - Reinforced Concrete Safety End Treatment for 24-Inch RCP, Complete in Place	12	EA	\$4,372.00	\$52,464.00	\$3,500.00	\$42,000.00
105	Steele Road - Reinforced Concrete Safety End Treatment for 18-Inch RCP, Complete in Place	45	EA	\$2,546.00	\$114,570.00	\$2,500.00	\$112,500.00
106	Steele Road - Standard Pre-Cast Concrete Storm Sewer Manhole Per Detail, Complete in Place	1	EA	\$6,752.00	\$6,752.00	\$7,500.00	\$7,500.00
107	Steele Road - Type "A" Inlet Per Detail, Complete in Place	3	EA	\$2,687.00	\$8,061.00	\$3,000.00	\$9,000.00
108	Steele Road - Traffic Markings, Prep and Paint, 24" Solid White Stop Bar, As Directed by the Owner's Representative, Complete in Place	95	Ŀ	\$8.00	\$760.00	\$10.00	\$950.00
109	Steele Road - Traffic Markings, Prep and Paint, 4" Solid Yellow Striping (Double Solid Striping Along Center of Pavement), As Directed by the Owner's Representative, Complete in Place	10,550	LF	\$2.00	\$21,100.00	\$1.25	\$13,187.50
110	Steele Road - Traffic Markings, Prep and Paint, 4" Solid White Striping (Along North and South Edge of Pavement), As Directed by the Owner's Representative, Complete in Place	11,000	LF	\$2.00	\$22,000.00	\$0.60	\$6,600.00
	Provide Traffic Control Plan, Including Detour Plan Where Required, Sealed by a Professional Engineer Licensed in Texas, Complete in Place	1	LS	\$2,950.00	\$2,950.00	\$5,000.00	\$5,000.00
112	Traffic Control, as Necessary, Includes Acquiring Permits, Flaggers as Necessary, Installation, Maintenance, and Removal of All Traffic Control Devices Required by Permit, Complete in Place	1	LS	\$228,000.00	\$228,000.00	\$770,000.00	\$770,000.00
113	NPDES Storm Water Permit Compliance per SWPPP, Including Report, Notifications, Implementation, Inspections, Reporting, BMP Maintenance and All Appurtenances, Complete in Place	1	LS	\$1,103.00	\$1,103.00	\$11,000.00	\$11,000.00

City of	abulation - Bid Opening, March 11, 2025 f Alvin ation 23 Expansion & Elimination of Lift Stations	6 & A3	Reddico Constructi 10083 Airport Ro Conroe, TX 7730	ad	Reytec Construction Resources, Inc. 1901 Hollister Street Houston, TX 77080		
	roject No. E231-0060	, i, iJ, i0, 0. 43		936-441-9500	•	832-651-8923	
FRN F				Ryan Redd		Zach Branda	
FIXIN F	-1300			rredd@reddico.c	om	zbranda@reytec.	com
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM
114	SWPPP System, Including Reinforced Filter Fabric	1	LS	\$9,407.00	\$9,407.00	\$100,000.00	\$100,000.00
11-	Fence, Stabilized Construction Exit, Rock Filter Dams, and All Appurtenances, Installed and Maintained in Accordance with Best Management	'		ψ5,467.00	ψ3,407.00	Ψ100,000.00	ψ100,000.00
	Practices, Complete in Place						
	SUB-TOTAL BASE BID ITEMS 1 - 114				\$32,390,514.00		\$34,731,657.50
	SUPPLEMENTARY ITEMS	54445444544454445	0 14440444404444				
115	NO BID ITEM - REMOVED AS PART OF ADDENDUM NO. 2 DUE TO IT BEING COVERED IN THE BASE BID						
116	"Extra" Bedding and Backfill for Wet Sand	10,000	LF	\$10.00	\$100,000.00	\$10.00	\$100,000.00
	Construction and Unsatisfactory Soil Conditions, in Accordance with the Geotechnical Report and Details on Plans, As Directed by Owner's Representative, Complete in Place						
117	"Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place	1,000	CY	\$10.00	\$10,000.00	\$10.00	\$10,000.00
118	"Extra" Crushed Limestone Bedding, As Directed by the Owner's Representative, Complete in Place	100	CY	\$25.00	\$2,500.00	\$25.00	\$2,500.00
119	"Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As Directed by the Owner's Representative, Complete in Place	50	TON	\$30.00	\$1,500.00	\$30.00	\$1,500.00
120	"Extra" 4,000 PSI Structural Concrete, As Directed by the Owner's Representative, Complete in Place	100	CY	\$100.00	\$10,000.00	\$150.00	\$15,000.00
121	"Extra" Reinforcing Steel, As Directed by the Owner's Representative, Complete in Place	100	LB	\$1.00	\$100.00	\$1.00	\$100.00
122	"Extra" Turf Establishment, Full Sodding, As Directed by the Owner's Representative, Complete in Place	5,000	SY	\$3.00	\$15,000.00	\$5.00	\$25,000.00
123	"Extra" Line Stop on Existing 12-Inch Waterline, Including Cut & Removal Of Existing Line as Necessary, As Directed by Owner's Representative, Complete in Place	2	EA	\$10,000.00	\$20,000.00	\$14,000.00	\$28,000.00
124	"Extra" Line Stop on Existing 8-Inch Waterline, Including Cut & Removal Of Existing Line as Necessary, As Directed by Owner's Representative, Complete in Place	2	EA	\$8,000.00	\$16,000.00	\$10,000.00	\$20,000.00
125	"Extra" Line Stop on Existing 6-Inch Waterline, Including Cut & Removal Of Existing Line as Necessary, As Directed by Owner's Representative, Complete in Place	2	EA	\$6,000.00	\$12,000.00	\$8,000.00	\$16,000.00
126	12-Inch Insertion Valve, Hydra-Stop Insta-Valve or Approved Equal with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place	1	EA	\$18,978.00	\$18,978.00	\$20,000.00	\$20,000.00
127	8-Inch Insertion Valve, Hydra-Stop Insta-Valve or Approved Equal with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place	1	EA	\$10,020.00	\$10,020.00	\$12,000.00	\$12,000.00
128	6-Inch Insertion Valve, Hydra-Stop Insta-Valve or Approved Equal with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place	1	EA	\$8,725.00	\$8,725.00	\$10,000.00	\$10,000.00
	SUB-TOTAL SUPPLEMENTARY ITEMS 115 - 128				\$224,823.00		\$260,100.00
	ALLOWANCE ITEMS						
129	Costs Incurred (Direct from Electric Provider) Due to New Electrical Service at Lift Station No. 23, As Directed by Owner's Representative, Complete in Place	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
130	Costs Incurred (Direct from Gas Provider) Due to New Gas Service at Lift Station No. 23, As Directed by Owner's Representative, Complete in	1	LS	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
131	Costs Incurred (Direct from Data Flow Systems) Due to New SCADA System Equipment, Controls, Installation, Labor, and Programming at Lift Station No. 23, As Directed by Owner's Representative, Complete in Place	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00

	abulation - Bid Opening, March 11, 2025			Reddico Construction	on Company, Inc.	Reytec Construction	n Resources, Inc.
City o	f Alvin			10083 Airport Ro		1901 Hollister Street Houston, TX 77080	
Lift St	ation 23 Expansion & Elimination of Lift Stations	1, 15, 1	6, & 43	Conroe, TX 7730	3		
	roject No. E231-0060			936-441-9500		832-651-8923	
FRN F	-1386			Ryan Redd		Zach Branda	
17514				rredd@reddico.co		zbranda@reytec.d	
ITEM NO.	DESCRIPTION	EST. QTY.	UNITS	UNIT PRICE	TOTAL PRICE PER ITEM	UNIT PRICE	TOTAL PRICE PER ITEM
132	Costs Incurred (Direct from Electric Provider) Due	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
	to Securing/Relocation Power Poles (120+/-) in Areas of Open-Cut Construction As Necessary for Construction, As Directed by Owner's Representative, Complete in Place			, , , , , , , , , , , , , , , , , , , ,	, ,	, , , , , , , , , , , , , , , , , , , ,	****
133	Costs Incurred (Direct from BNSF) Due to BNSF Pipeline Crossing Agreement, Including BNSF Designated Personnel for Flagging Operations and Insurance Requirements as Necessary), As Directed by Owner's Representative, Complete in Place	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
134	Irrigation Restoration to Like or Better Condition, As Directed by Owner's Representative, Provide Three Bids for Review and Approval by the City, As Directed by Owner's Representative, Complete in Place, GC Overhead Markup Limited to 10%	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
135	Landscaping Restoration to Like or Better Condition, As Directed by Owner's Representative, Provide Three Bids for Review and Approval by the City, As Directed by Owner's Representative, Complete in Place, GC Overhead Markup Limited to 10%	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
136	Owner's Utility Contingency, As Directed by Owner's Representative, Complete in Place, GC Overhead Markup Limited to 10%	1	LS	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00
	SUB-TOTAL ALLOWANCE ITEMS 129 - 136				\$630,000.00		\$630,000.00
					·		
	ALTERNATE "A" BID ITEMS						
137	Increase/Deduct in Each Unit Price for Bid Item No. 51 for Construction of Standard Pre-Cast Concrete Sanitary Manhole with Corrosion Resistant Materials (Special Provision No. 1 to Specification Item No. 02542) in Lieu of Polymer Concrete Manhole, 6-Foot Diameter Base, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in	9	EA	\$24,258.00	\$218,322.00	(\$34,000.00)	(\$306,000.00)
138	Increase/Deduct in Each Unit Price for Bid Item No. 52 for Construction of Standard Pre-Cast Concrete Sanitary Manhole with Corrosion Resistant Materials (Special Provision No. 1 to Specification Item No. 02542) in Lieu of Polymer Concrete Manhole, 5-Foot Diameter Base, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in	61	EA	\$17,739.00	\$1,082,079.00	(\$15,500.00)	(\$945,500.00)
139	Increase/Deduct in Each Unit Price for Bid Item No. 53 for Construction of Standard Pre-Cast Concrete Sanitary Manhole with Corrosion Resistant Materials (Special Provision No. 1 to Specification Item No. 02542) in Lieu of Polymer Concrete Manhole, 5-Foot Diameter Base, with Cast-In-Place Base (Doghouse MH), Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in	1	EA	\$18,826.00	\$18,826.00	(\$27,500.00)	(\$27,500.00)
139Ā	Increase/Deduct in Each Unit Price for Bid Item No. 54A for Construction of Standard Pre-Cast Concrete Sanitary Manhole with Corrosion Resistant Materials (Special Provision No. 1 to Specification Item No. 02542) in Lieu of Polymer Concrete Manhole, 4-Foot Diameter Base, Including Risers (Full Depth), Concrete Grade Rings, Manhole Frame, Cover, Adjustment Rings, Connections of Existing and Proposed Lines as Required, and All Appurtenances, Complete in Place SUB-TOTAL ALTERNATE "A" BID ITEMS 137 - 13	2 39A	EA	\$9,111.00	\$18,222.00 \$1,337,449.00	(\$14,000.00)	(\$28,000.00) (\$1,307,000.00)

Bid Ta	abulation - Bid Opening, March 11, 2025		Reddico Construction Company, Inc.		Reytec Construction Resources, Inc.		
City o	f Alvin			10083 Airport Road		1901 Hollister Street	
Lift St	tation 23 Expansion & Elimination of Lift Stations	1, 15, 10	6, & 43	Conroe, TX 7730	03	Houston, TX 770	80
LJA Project No. E231-0060				936-441-9500		832-651-8923	
FRN F-1386				Ryan Redd		Zach Branda	
			rredd@reddico.c	<u>com</u>	zbranda@reytec.	<u>com</u>	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM
	SUMMARY OF BID						
	BASE BID ITEMS 1 - 114			\$32,390,514.00	-	\$34,731,657.50	
	SUPPLEMENTARY ITEMS	ITEMS '	115 - 128	I	\$224,823.00	-	\$260,100.00
	ALLOWANCE ITEMS	ITEMS '	129 - 136	3	\$630,000.00	-	\$630,000.00
	TOTAL BASE BID, SUPPLEMENTARY, AND ALLOWANCE ITEMS	ITEMS '	1 - 136		\$33,245,337.00	-	\$35,621,757.50
	ALTERNATE "A" BID ITEMS	ITEMS	137 - 139)A	\$1,337,449.00		(\$1,307,000.00)